
Subtraktion
Subtraktion i uppställning, med övergång

172 − 131 = __ 795 − 418 = __ 819 − 432 = __ 76 − 76 = __

462 − 274 = __ 694 − 641 = __ 829 − 563 = __ 737 − 164 = __

277 − 82 = __ 118 − 75 = __ 785 − 687 = __ 740 − 398 = __

152 − 140 = __ 125 − 87 = __ 233 − 214 = __ 567 − 180 = __

999 − 353 = __ 632 − 589 = __ 86 − 85 = __ 960 − 202 = __

Datum: __ /__ 20__ könig.se Övningsblad: s1000-u-3



Subtraktion
Subtraktion i uppställning, med övergång

172 − 131 = 41 795 − 418 = 377 819 − 432 = 387 76 − 76 = 0
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462 − 274 = 188 694 − 641 = 53 829 − 563 = 266 737 − 164 = 573
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277 − 82 = 195 118 − 75 = 43 785 − 687 = 98 740 − 398 = 342
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152 − 140 = 12 125 − 87 = 38 233 − 214 = 19 567 − 180 = 387
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999 − 353 = 646 632 − 589 = 43 86 − 85 = 1 960 − 202 = 758
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Datum: __ /__ 20__ könig.se Övningsblad: s1000-u-3


